Max Marks : 100
ALL INDIA TRADE TEST - 2025 FOR CRAFT
INSTRUCTOR TRAINING SCHEME - ENTRANCE
EXAMS
Trade Name: Mechanic Motor Vehicle
Year: 1st Year
Exam Date :
Exam Time :
Note:
1. Tick the correct option out of four alternatives provided
2. All questions carry equal marks (1 Marks each)
3. There is no negative marking
AV o i
I\S](r).. QID Question Body and Alternatives 4 RS Marks Nf/lg;t:e
TRADE THEORY N
1 Which part act as a seal between piston and cylinder? 1.0 0.00
foret iR fRiftieR & dfta 19 1 Ui U i & w0 & S Fra g |
Al : Piston pins
e fom
A2 : Piston rings
ey R
A3 : Piston boss
[EIE I
A4 : Piston ring land
e ferds
y N Nt =TRADE THEORY
2 What is a tappet clearance? 1.0 0.00
e TG |2
Al : Clearance between the yalve tip androcker arm tip
a1 feu SR IR S FHisiia
A2 : Clearance between cam lobe and tappet
T dlg 3R Toe.TIE & s He)
A3 _is€learance between valve and valve seat
F1cd iRl e & g A
A4 : Clearance between push rod and tappet
RIS 3R e TR
TRADE THEORY
3 Which port function during throttle plate is almost closed in carburettor system? 1.0 0.00

YTed Wi b GRT B 1 UIE thavH hraRex Rieed 7 §< 82

Al : Exhaust port
TEIRE Ui

A2 : Inlet port

A3 : Idle port
3Mgse e




A4 : Transfer port
LI

Which part is fitted at the rear end of crank shaft?

P 1 e Shep TTte & IR & BR IR T oIl 82

Al : Piston

A2 : Connecting rod

e A B

A3 : Camshaft
CL R

A4 : Flywheel

Which bearings can take axial load in both the directions?

o fegmal § o a1 feafar srefig YR o gedr g2

Al : Plain roller

T AR

A2 : Ball
qId

A3 : Taper roller

SRR

A4 : Bush

kAl

Which law is applied in hydraulic breice system?

TSI 3 o & B 1 AT arLEi 82

Al : Boyles law
Sigd &1 |

A2 : Chatles,law

a1 &1

A3 : Rascals law

URO A hIZT

A4 : Newtons law

e

What is the cause of abnormal tyre wear at centre?

Fg o ST TRR T T HRUT T 82

Al : Inflation as per specification

A2 : Over inflation

TRADE THEORY

TRADE THEORY

TRADE THEORY

TRADE THEORY

0.00

0.00

0.00




10

10

A3 : Under inflation
wH

A4 : Partially correct inflation
i1 U J HEl BAT

TRADE THEORY

Which component of air brake system converts pneumatic into mechanical energy? 1.0

TR o ReH &1 HH T Uesh T IUa Hi i3 SHoii § TRafdd Bl g

Al : Reservoir
SR

A2 : Brake valve
S STed ARTH

A3 : Compressor

N

A4 : Brake chamber

NP IR

TRADE THEORY

What is the minimum number of valves provided in an I.C.engine? L0

317E At SO W UG Bt 9 aTa dTedl Bt A T o 87

Al : One valve
Uch dled

A2 : Two valves
I

A3 : Three valves

o ared

A4 : Four valves

IR dled

TRADE THEORY

What are the piston rings are used in a;tor;lobile engine? 1.0
SficmaTga o H e 1 o1 Ui i faman < &2

A1l : Oil ring andrexpansion ring

et T g Ferra T

A2 : Lubricating ring and compression ring

WP NIl gad T

A3 : Oil ring and compression ring

ad & U g fa

A4 : Compression ring and expansion ring

a9 a1 qur Sama

TRADE THEORY

Which is providing effective binding of two surfaces to get better seal? 1.0

S SER Wied U & T &) Tag)  wuTdl e UeH PR IET R

Al : Rubber mat
WS A

0.00

0.00

0.00
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14

13

14

A2 : Gasket

A3 : Oring
ofar

A4 : Cap
G2l

TRADE THEORY

What is the material used to make cylinder head?

ISR B8 ST b foTT SUTNT B S aredt el @ 22

Al : Cast iron
HIRC HRRA

A2 : Wrought iron
Gl HIRA

A3 : Copper
PR
A4 : Steel

TRADE THEORY

What is the material used to make cylinder block?

Ryeier < s & fore IuaNT Bt S arelt Il o 82

Al : Brass

A2 : Cast iron
HIRC AR

A3 : Wrought iron
ESEUSIE]

A4 : Steel

TRADE THEORY

What type of beariné g us;cl in camshaft?

PR @ 5T UHR I faf o1 I fear o g2

Al : Ball'bearing
CINRERIY

A2 : Needle bearing

RIENACRITYI

A3 : Bush bearing

LRG|

A4 : Roller bearing

JeR faafer

TRADE THEORY

How many pumps are engaged in dry sump lubrication system?

0 Uu g Sg yomeh B @ 81
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19

18

19

Al : One

A2 : Two

A3 : Four

A4 : Three

What is the type of gear used in oil pump?

U 4T H {5 UpR & R &1 I foan Sird 82

Al : Spur gear
TR R

A2 : Bevel gear

A3 : Helical gear

A4 : Double helical gear
SEN)

What is the cause of scuff wear in tyres?

<R ¥ fRrgTa &1 SRU 1 82

Al : Over inflation

3f% FHdl gU

A2 : Under inflation

FAgY

A3 : Worn out wheel bearing

I faafr 9 smae

A4 : Partially correct inflation

TR B §T

What is the cause of tyre wear at shoulder?

%Y IR TR Ug- 1 T BRI 82

Al : Over inflation

3% Hol gu

A2 : Under inflation

B

A3 : Inflation as per specification

fRyffed 7 9% Ba gu

A4 : Partially correct inflation

TR T §T

How electrolyte is compensated during battery charging?

TRADE THEORY

TRADE THEQRY',

TRADE THEORY

TRADE THEORY
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21

22

20

21

22

Y& o1t B F SR IATINSE B Y YT a1 o1l 32

Al : By lead peroxide
S WSS ¥

A2 : By lead sulphate
Fethe 9

A3 : By oxygen

e

A4 : By adding distilled water

fefSred umt BT oisaR

Which type of carburettor used in cars?

BRI H {5 TBR ®1 BraRex ST fHa1 Sdr g1

Al : Down draft
SIH gIUc

A2 : Up draft
FU g

A3 : Side draft
NIESEIEH

A4 : Inclined draft
ERCSIESESIES

The crankshaft is provided with gear or sprocket to drive.....

TRADE THEORY

TRADE THEORY:

b U< B 913d B & forg TR 1 Wiieve foar gl

Al : Camshaft
Py T

A2 : Water pump
glex 4y

A3 : Alternator

A4 : Flywheel

Which'il is used in gear box?

R ST & forg A 1 STaNT fHan S 2|

Al:SAE 90
SAE 90

A2 : SAE 140
SAE 140

A3 :SAE 40
SAE 40

A4 : SAE 30
SAE 30

TRADE THEORY

TRADE THEORY

0.00
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24

25

26

23

24

25

26

Where air fuel mixture ignition takes place?

g Se iy ode Bel e g |

Al : Piston

A2 : Combustion chamber
A3 : Intake manifold

A4 : Exhaust manifold

TRADE THEORY

Which stroke vacuum is created in an IC engine?

TS Y SO T B 91 Wi JogH ST oI 8 |

Al : Suction stroke

X

A2 : Compression stroke

X

A3 : Power stroke
TR Kb

X

A4 : Exhaust stroke

Tl

_ARADETHEORY

Which part circulate water in cooling system?

iaa gl 7 S fobg 1T J Referd gl

Al : Fan
A2 : Body

A3 : Pump
ug

A4 : Water hose
qrer g8

TRADE THEORY

Which consists fixed contact and movable contact in ignition circuit?
P wfdhe # FfEd Jud ofk S 9ud S 3 7
Al : Primary circuit

e

A2 : Secondary circuit
A3 : Condenser assembling

A4 : Breaker point assembly

EERSEESIE]

0.00

0.00
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28

29

30

27

28

29

30

Where ports are provided in the two-stroke engine?

T KIS $9 UIE $gl W fear S g

Al : Piston

A2 : Cylinder walls
RreivsR dled

A3 : Piston rings

e

A4 : Crankcase

&P HY

Which type of bearing is used for crankshaft commonly?

STHAR WR b e P T g TR &1 fagfika grar gl

A1l : Shell bearing
RN

A2 : Ball bearing
CISAERIRY]

A3 : Roller bearing

IR faafer

A4 : Taper roller bearing
s faafar

Which bearing reduces friction to minimum?

DI 1 faaleT avur 1 g ad SRar 3|

A1 : Shell bearing
RUSRERIR]

A2 : Roller bearing

Jer faafar

A3 : Taperroller bearing

TR YR fagRT

A4 : Ball'bearing
CISAERIRY]

Which drives the lubricating oil pump in an engine?
SO T foIpTeT ffsel UU P $I e |

Al : Belt drive
dee grgd

A2 : Camshaft screw gear

$H e T AR

A3 : Chain drive

EEIIEE

TRADE THEORY

TRADE THEORY

T—EABE THEORY

TRADE THEORY

0.00
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32

33

34

31

32

33

34

A4 : Flywheel gear

ESIECIRINEN

TRADE THEORY

What is the tool used to check valve clearance? 1.0

dica fRaa¥e 31 Sifg H7 & T feg Iueur &1 v fvar S |

Al : Bore gauge
fiE]

A2 : Screw gauge

I

A3 : Feeler gauge

A4 : Dial gauge
ERCKIE]

TRADE THEORY

What is the use of check valves in the AC mechanical fuel pump? 1.0

AC A d W U0 § 3% died BT STINT 34T 52

Al : Allow the fuel to suck and deliver

S B W AT DT

A2 : Supplying correct quantity of fuel

YT BT TGt HET AT

A3 : Creating suction
T UaT Bl

A4 : Creating pressure

EElCRMEZE!

y TRADE THEORY

How many number of power strokes producedin a single cylinder four stroke engine rotates at 3000 RPM? 1.0

T RiTe Riciet BR T Soi fobda UiaR €l S BId & Sfd d8 3000 RPM TR YHJ

A1:750
750

A2 :1500
1500

A3: 3000
3000

A4 : 6000
6000

TRADE THEORY

Where the rack is connected in rack and pinion type steering? 1.0

¥ 3R RIFRR egu €l A ¥ sl e g gl

Al : Drop arm

g

A2 : Tie rod at both ends

TEAS H AN BRR

A3 : Front axle

0.00
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36

37

38

35

36

37

38

A4 : Steering column
DITH

TRADE THEORY

What is the stroke of an engine?

o BT TP T 32

Al : Equal to the throw of the crank

PP P b b TR

A2 : Equal to twice the throw of the crank

%P P &I TR P RIS

A3 : Equal to thrice the throw of the crank

% & I IR I RIER

A4 : Equal to four times the throw of the crank
b P IR IR P RN

TRADE THEORY

Which is controlling the quantity of petrol-air mixture that enters the engine cylinder?

S0 Ryeiey # Haw 3 el De arg-fisur &1 /i &1 i P R w1 R

Al : Throttle valve
sfed dica

A2 : Strangler

X

A3 : Float

A4 : Needle valve

Heaaiea

TRADE THEORY

What is the purpose of maintainingdevelof brake liquid in the reservoir?

SRR B 5 MBS b TR Pl S EIG BT Ie=T T 32

Al : to avoid brake drag

EEEARCIEE R G

A2 : to avoid,brakegrip

EEIRUEE Il

A3 : to prevent air lock in the system
EEIEISKIES

A4 : to avoid brake chatter
S CAREEIN

TRADE THEORY

What is the least count of an outside micrometer?

TIE P HISHIHICR B! God HH &I 1 82

Al:0.1 mm
0.1 mm

A2:0.01 mm
0.01 mm

0.00

0.00

0.00
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40

41

42

39

40

41

42

A3:0.001 mm
0.001 mm

A4 :0.02 mm
0.02 mm

Which is the stroke of an engine?

oI T 3NYTd fPd hgd o2

Al : Volume of the cylinder

IREERCIR LR

A2 : Length of the connecting rod

BISEEINIESEIEIH

A3 : Internal diameter of the cylinder

Rrcisx &1 AR oy

A4 : Distance between t.d.c. and b.d.c.

td.c. 3R b.d.c. & §FH gH

Where the emulsion tube is provided in solex carburettor?

e DTSR H TRIfTIH <gd Hal UaH &I ol 82

Al : Choke
Eicd

A2 :Idle jet

fAferg oie

A3 : Main jet

piciferd

A4 : Cold starter
CEIRSIEN

Which part connected with piston by gudgeon pin?

o o g e i@ 1Y ST 31T ¥ ST g 82

Al : Camshaft
A2': Crankshaft

A3 : Connecting rod

EISEEISIES]

A4 : Big end bearing

fam ¢ faafen

What is the volume of the space above the piston at TDC?

TDC R e & SR $ WM &7 AT fbd1 82

Al : Swept volume
W A

A2 : Clearance volume

FATRY 3T

TRADE THEORY

TRADE THEORY

TRADE THEORY

TRADE THEORY

0.00

0.00
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44

45

46

43

44

45

46

A3 : Total volume
ERUIERE

A4 : Displace volume
AHRd

TRADE THEORY

Which device is vapourizing of fuel and mixing it with air in petrol engine? 1.0

PI-IT YB3 P ATHBRUT 3R 38 USIe Soi- H ga1 & 1Y e @1 ]

Al : Tank

A2 : Fuel filter

o fheex

A3 : Carburettor

A4 : AC fuel pump
ACSYT U

TRADE THEORY

Which carburettor circuit enriches the fuel quantity during acceleration? 1.0

RN %GR, B Al BIERCR Fidhe Y- B AR 6 THG Bl 3

Al : Choke circuit

A2 : Slow speed circuit
FH T e

A3 : High-speed circuit
I

A4 : Accelerating pump circuit

@afkd g

TRADE THEORY

Which engine component moves thé crankshaft during the non-working strokes? 1.0

RPN Kb B GRM B TT $o Uch HHRMIE B ™R HaT 82

Al : Crank

A2 : Riston

A3 : Flywheel

A4 : Connecting rod

e Il B8

TRADE THEORY

Which type of engine is more economical and compact? 1.0

5T UPR o1 391 31 fPHrHd 3R Bt 2|

A1l : Radial engine
fega gem
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48

49

50

47

48

49

50

A2 : Opposed engine
CLIECEEE]

A3 :V - Engine
V 2ol

A4 : Inline engine

ERNIERESE]

TRADE THEORY

How the valves opened and closed?

Ied HI G 3R 3g gW

Al : Opened by a cam and closed by a spring
T $HH GRI QA T7 3R U BT g a7 faan

A2 : Opened by a spring and closed by a cam
T BT gRT Wil T 3R U H gRI 8l far

A3 : Opened by tappet and closed by a cam
fUs g1 @i T SIR U g §E o

A4 : Opened by spring and closed by a rocker
TR GRT @hefT 7T 3R bR GRT w7 fobar

TRADE THEORY
Which gauge is used to check and set the spark plug gaps?

5 51 BT ITNT TTeh T 3faRTT B Sird 3R Ve HR & forg fam Sirer

Al : Plug gauge
LSUKIE]

A2 : Feeler gauge
A3 : Taper gauge
RIS

A4 : Ring gauge
IRKIE]

TRADE THEORY

What is the effects ofia punctured carburettor float?

TR PTsIvE TR PT UHTE T Bl 22

Al : Weak mixture

dic 9

A2 : Petrol flooding

A3 : Low petrol level
VS BT HH TR

A4 : High air / fuel ratio
I a1 54 U

TRADE THEORY

Which action causes the petrol to enter in the air flow?

g HTd B S b RN Y YT a1 22
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52

53

54

51

52

53

54

A1l : Carburettor air-horn pressure

FHTIGCR R-EH qa1d

A2 : Engine vacuum

ERREC S

A3 : Venturi pressure

CTIC)

A4 : Petrol pressure produced by accelerating pump

@Rd U gR1 9gid gaa

Which operates the valve mechanism?

died B gEd B AT

Al : Crankshaft
& Qe

A2 : Timing gear

A3 : Flywheel

A4 : Camshaft
ERUL

TRADE THEORY

TRADE THEGRY',

Which part determine the AC mechanical pumps fuel delivery pressuré?

P 1 = Tt Ao Ug Su faaRur gard o1 feRor HRar g

Al : Size of the pumping chamber

It IR BT SHET

A2 : Maximum stroke of diaphragm

ST BT 3% dH Idh

A3 : Maximum deflection of diaphragm
ST o HUHH

A4 : Spring pressure,on diaphragm
SR W B ] gard

Name the heat treatment process of crankshaft.

PP YTe ! T SRR ufshar &1 H

Al : Carburising

A2 : Tempering
cwfe

A3 : Case - hardening

A4 : Nitriding

X

What is the speed of camshaft in a 4-stroke engine?

TRADE THEORY

TRADE THEORY
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55

56

57

BRI o A o erife 1 i &2

Al : Double of crankshaft

P Qe & GRA

A2 : Equal of crankshaft
e Y &b RIS

A3 : Half of crankshaft
S T BT STET

A4 : One-fourth of crankshaft

P YT BT TP TS

Where the push rod in an engine is located?
STeT 3o H R 3Ts fRUa B
Al : Valve and rocker arm

Jica IR A 3|

A2 : Camshaft and valve tappet
T YU 3R 9Ted TR

A3 : Valve tappet and rocker arm
P M qYTAebe 3HH

A4 : Valve and valve spring
P QMG & TP I3

TRADE THEORY

TRADE THEORY:

What is the reason of petrol flows from the float chamber to the venturi?

TR TR Y ¥ d Ueicl JdTg BT HRUI T 32

A1l : The difference in pressure

Tqa H 3R

A2 : The difference in levels
TRH

A3 : The float level is higher
IR BT &R S 3

A4 : Petrol blocked'in float chamber
TH WIR G eI Sfaeg

Which's dissipating heat in water cooling system?

S ST 2fieer gomet & T &1 faarg aR @R
Al : Jacket

A2 : Feed pump

g Uy

A3 : Radiator

A4 : Filter

TRADE THEORY

TRADE THEORY

0.00
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60

61

58

59

60

61

What is the functions of an induction manifold?

g5 Aftice &1 o1 R 8?

Al : Stores pressure

ST g7 GaTd

A2 : Hold the vacuum

qIGHH B A 3G

A3 : Meter the fuel

YT DI Hiek HAT

A4 : Regulate the fuel
S BT BT B

TRADE THEORY

For cold starting which part is operated in the Carburretor?

3 & PR P 117 BH-T feRT Prsivex T Faferd ghar a2

Al : Throttle valve
e ared

A2 : Choke valve

P dled

A3 : Float

A4 : Needle valve

BISNKIC]

_ARADETHEORY

What is the material of piston pins?

e fifg o) Tl = 82

Al : Nickel chromium steel

A2 : Cast iron
HIRC AR

A3 : HSS
HSS

A4 : Bronze
GICH

TRADE THEORY

Where the main scale is graduated in outside micrometer?

STeT e T TR HTgehiHieR ¥ STeR JTdw fha S &1

Al : Thimble
Reer)

A2 : Spindle
A3 : Barrel

A4 : Frame

0.00

0.00
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63

64

65

TRADE THEORY

Which part connect the piston with connecting rod?

fore foed 7 fores B FAfRTT TS AT 7

Al : Piston pin

e fom

A2 : Split pin
e fue

A3 : Crank pin
0o fud

A4 : Cotter pin

Prex iU

TRADE THEORY

The distance from the centre of the main journal to the centre of the crankpin is termed as ..............

e o % B W TR URADT F sk I gl BT HgT Il 3|

Al : bore

A2 : top dead centre

T SY YR

A3 : throw

A4 : revolution

T—EABE THEORY

What will be the cause due to worn out of tie rodsends?

T8 IS U 811 T WIS §IHT T HRUT 3T BT

Al : Abnormal noise in gear box
IR Sie & SrTyRur TR

A2 : Gear slip

firR &g

A3 : Wheelwobble,with excessive steering play

Tfeu B! e RRT & 1Y TS s

A4 : Clutch slip
T BT RTg HAT

TRADE THEORY

How the stub axle crack is detected?

T Y e P U B TN ST B |

Al : Visual check
ERURSIE]

A2 : By magnetic crack detector

YADIY thh Tie aTdl Ueh ¥

A3 : Listening for bell sound through shunt blow

Y BI TS G PR o Te seft F Foiell 3

0.00
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67

68

69

66

67

68

69

A4 : By apply prussian blue
L AMRR

TRADE THEORY

The lubricating oil gets dilution due to...

TP SATTA P HRU HHSIR TS ST 3 |

Al : connecting rod bearing worn out

Sirg dTelt IS & faaf &1 g ST

A2 : high viscosity of oil
! I fawprfic!

A3 : fuel and water mixed with oil

Y 3R U BT A | e S

A4 : oil leaks in the drain plug

R ARG EEINSIG]

TRADE THEORY

The contamination of the lubricating oil is due to...

RIS e % YU H BRUR|

Al : High viscosity
I IR

A2 : Formation of sludge
Tl T §91

A3 : Oil pan drain plug leak
A & 99 @I &1 RA1d

A4 : Main bearing worn out

o fqgiaT &1 9 ST

TRADE THEORY

Lack of lubrication in main bearing is due to ...

e fqufn & faes adt &t &l . PRU BT 8|

Al : oil holes in the crankshaft blocked

e Qe &l %I DT 5 B

A2 : oil holes‘in'the camshaft blocked

BH MG der i85 &g Bl

A3 : oilsholes in the connecting rod blocked

Bl arell B8 b o g1 &I sig g

A4 : oil holes in the cylinder block blocked
focieR sl & &g g g1

TRADE THEORY

While running the engine, the engine speed is poor during acceleration. The problem is ...

o ITd THY RUT & QIR Soi Pt TTfd TRIS BT & T8 THET 1182

Al : accelerating jets clogged

TR AT e 1R 8T

A2 : punctured float
ESICEEN

0.00
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73

70

71

72

73

A3 : float level too high

TKIRE &1 ¥R 9gd 3P

A4 : dirty leak float valve
T2 R wile aed

The cylinder gets rapid wear due to ...

ReisR I § g & BRI U6 B1a1 67

Al : overheat of engine

waTeT T goH

A2 : less pressure in ring

[RUEACT iG]

A3 : rings to scuff the cylinder wall

R #t SaR &) W & forw et

A4 : increase compression pressure

TEa o

What is the part on hydraulic brake system to be adjusted for all wheel brake binding?

RSt S Red W g ufey s 15T & o qurafer fear S arar yrT a1 39

Al : Brake shoe clearance on all wheels

it ufedl R 5 Y FRA

A2 : Clutch pedal play
ENE]

A3 : Parking brake cable

I 5 haa
A4 : Compensator play
FHUTHR W

TRADE THEORY

TRADE THEORY

TRADE THEORY

Cylinder head nuts are tightened by using torque wrench. Uneven tightening of cylinder head nuts causes ...

T T BT ITINT B RTS8 & ¢ Bl B 31 1T 8, Ricie 88 T’ & A B B HRUT Fd1 372

Al : cylinder head,will come out

frcex g8 aTER 8 ST 7

A2 : cylinderhead get warped

fereR &8 fagpd gl s

A3 : cylinder head will break

iR g8 ge s

A4 : studs will break
LS T

While running of engine, engine makes noise due to broken valve spring. The sound is ...

TRADE THEORY

SO A T, o ¢ §U died AT & HRUN AR BT & SATATS B-----

A1l : dull heavy thumping
& YR TeTTSTRT

0.00

0.00

0.00
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77

74

75

76

77

A2 : loud knocking
SR 9§ Bl

A3 : light clicking
ESdEICIE

A4 : squealing

TRADE THEORY

Name the test done on injector for performance analysis.

Tex fIzdwor & forg swoiaex WR fou T e &1 91 91T

Al : Pressure test

CEICR R

A2 : Tension test
GRICASRIELS

A3 : Spring test
T ateror

A4 : Volume test
SHTATS UY&or

TRADE THEORY

Heavy vehicle stub axle bushes are corrected to size of king pin by ...

B S Fara v g1 R b o @ S febam Sifelt 8-

Al : filing
A2 : reaming
A3 : shearing

A4 : turning

& X NUMERICAL ABILITY AND REASONING
What is the value of 135itimes 247 ?

135 x 24751 A &1 &2

Al : 33345
33345

A2 :34345
34345

A3:35345
35345

A4 :36345
36345

NUMERICAL ABILITY AND REASONING
What is the value of 30% of 600 + 70% of 400?

600 DT 30% + 400 DT 70%@%3@@?

Al:360
360

1.0 0.00
1.0 0.00
1.0 0.00
1.0 0.00
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78

79

80

81

A2 : 460
460

A3 :560
560

A4 : 660
660

NUMERICAL ABILITY AND REASONING
What is the value of X, if 966/x = 193.2 ?

3R 966/x = 193.2 A X BT HH 133

NUMERICAL ABILITY AND REASQN&Q
What is the value of 378+ 7/ 0.7 ?

378 +7/0.7 BT HI I3

Al:71.14
71.14

A2:73.14
73.14

A3:75.14
75.14

A4:77.14
77.14

& 4 NUMERICAL ABILITY AND REASONING
What is the value of Y1521 %317

V1521 + 34,7 HIF. SdT3:

Al: 50
50

A2:60
60

A3:70
70

A4:80

NUMERICAL ABILITY AND REASONING
What is the value of 15% of 550 + 45% of 440?

550 PT 15%+ 440 DT 45 %WIFTW%?

Al:280.5
280.5

0.00
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83

84

85

82

83

84

85

A2:2825
282.5

A3:284.5
284.5

A4 :286.5
286.5

NUMERICAL ABILITY AND REASONING

What is shafi income, If he spends 60% of salary for his family, 15% for his children, 15% for other expenses and remaining amount | 1.0
of a Rs 6,000 is saved?

3R YW 3Tt TIRGATE BT 60% T TRAR W, 15% 30 Fedl U, 15% GOR Gl R a1 [ § 6,000/~ T 90 BT g al
IID! Hol ATEATE TSy ©

Al :Rs 55,000
55,000 %.

A2 : Rs 60,000
60,000 3.

A3 : Rs 65,000
65,000 2.

A4 : Rs 70,000
70,000 .

NUMERICAL ABILITY ANDBET\_SONIN?]
What is the value of (3m + 5n) - (Sm - 6n)? 1.0

(3m + 5n) - (5m - 6n) T H FT 82

Al :2m-11n
2m - 11n
A2:2m+ lln
2m+ 11n
A3:-2m+ 1ln
-2m+ 11n
A4:-2m- 1ln
-2m - 11n

NUMERICAL ABILITY AND REASONING

What is the areaof rectangle in cm?, If breadth of the rectangle is 7 cm and length is twice the breadth of the rectangle?

IR Tl 3 Y SIS 7 em TUT TS, SIS B AT € ) ST BT &ABA em? TAZA?

Al : 96 cm?
96 cm?

A2 :97 cm?
97 cm?

A3 : 98 cm?
98 cm?

A4 : 99 cm?
99 cm?

NUMERICAL ABILITY AND REASONING

How much 8 turners earn, If 6 turners earn Rs 300? 1.0




86

87

88

86

87

88

3R 6 TR 300 T. HHIA & dl 8 TR [Pe=T HATG:

Al :Rs 325
3257%.

A2 :Rs 350
350°%.

A3 :Rs 400
400°%.

A4 :Rs 450
450%.

NUMERICAL ABILITY AND REASONING
How long will 6 similar pumps take to fill this tank,If 3 pumps take 27 minutes to fill up a tank?

3R 3 U T b bl HRA H 27 fie o & ) 6 77 I T ) WRA | fba1 9w ot

Al : 9 minutes
9 fiFe

A2 : 12 minutes
12 Toe

A3 : 15 minutes
15 fore

A4 : 18 minutes

18 fire

NUMERICAL ABIETPY AND REASONING
What is the value of 3x (4x -2y +5)?

3x (4x -2y +5) BIAM T S?

Al : 12x2 + 6xy -15x
12x2 + 6xy -15x

A2 12x% - 6xy + 15x
12x% - 6xy + 15x

A3 :-12x% - 6xy - 154
-12x2 - 6xy - 15x

A4 : -1282%6xy F15x
-12x2.+ 6xy4F 15X

NUMERICAL ABILITY AND REASONING

How much amount would each person get, If an amount of Rs. 61,020 is distributed equally amongst 45 persons?

3R 61,020 T. 45 AN H RIS Fic Y Al UAP P! fobea . fHe:

Al :Rs. 1156
1156 3.

A2 :Rs. 1256
1256 2.

A3 :Rs. 1356
1356%.

A4 : Rs. 1456
1456 2.

0.00
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90

91

92

89

90

91

92

NUMERICAL ABILITY AND REASONING
How many Kgs of tea powder will it require for 30 days, If a tea shop requires 45 Kgs of tea powder for 15 days?

%Wmaﬁwaﬁwﬁ‘—ﬁ%%qﬁ kgs T B TSR D] SR § a1 39 G DY 30 31 & forg fovam s sr

Al:75Kg

75 .

A2:80Kg
80 fop 7.

A3:85Kg
8s fwam.

A4:90 Kg
90 for 7T,

NUMERICAL ABILITY AND REASONING 4
How much did he sell the motor bike, If Mr.Sathish bought a motor bike for Rs 45,400 and then sold it at a loss of 1§% 2

IR = T TGS 45,400 . B WIS TUT BT 15% B1 W 39 &N | 18 BT faeha Yo7 aarsd -

Al :Rs. 38,290
38,290 .

A2 :Rs. 38,390
38,390%.

A3 :Rs. 38,490
38,490%.

A4 : Rs. 38,590
38,590 .

NUMERIGAL A]}ILTTY AND REASONING

How many days will be taken to assemble 48 machines, If amechanic assembles 8 machines in 2 days?

Tfe T A 2 e o 8 =i T 3rdvarel = oI & af 48 AT b1 3r&veett = H foba= faT e

Al : 10 days

10feE

A2 : 12 days

12f&

A3 : 14 days

14fea

A47716 days
16 fa=

NUMERICAL ABILITY AND REASONING

What is the side of square in cm, If the area of square is 961 cm?2?

Ife foreft 7 &7 8 961 om? B T BT YT om FATFA?

Al:30cm
30 cm

A2:31cm
31 cm

A3:32cm
32 cm

1.0 0.00
1.0 0.00
1.0 0.00
1.0 0.00
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94

95

96

93

94

95

96

A4:33cm
33 cm

NUMERICAL ABILITY AND REASONING

What is the length of rectangle, If the perimeter of rectangle is 248 mm and breadth is 50 mm?

Tfe fHd 3mad &1 uRATY 248 mm 3R TSTE 50 mm & Y M0 B TS Sd1S ;

Al:70 mm
70 mm

A2 :72 mm
72 mm

A3 :74 mm
74 mm

A4 :76 mm
76 mm

NUMERICAL ABILITY AND REASONING

In how many years the sum of Rs.6000 amounts to Rs 6960 at the rate of 8% per annum?

6000 . BT 8% TP &G T 6960 T. T H {11 THT TR

Al : 1 year
1

A2 : 2 years
299

A3 : 3 years
399

A4 : 4 years
499

/" NUMERIGAL ABILITY AND REASONING

What is the principal that earns Rs 300 as simple interest in 22 years at 10% per annum?

o gaum &1 2% W A 10% A &3 I =T 300 . G2

Al : Rs. 1000
1000 2.

A2 :Rs. 1100
1100 3.

A3#Rs. 1200
1200-%.

A4 :Rs. 1300
1300 2.

NUMERICAL ABILITY AND REASONING

Which direction Mr.Basha facing now, If he walked 10 m towards east took a right turn and walked 15 m and again he took a right
turn and walked 25 m?

I =M 10 m G Fa=m & R 15 m 3T 71 5= 25 . GTE T 3t 1@ S9! faxm 82

Al : South

&

A2 : North

1.0

0.00

0.00

0.00
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98

99

100

97

98

99

100

A3 : South - West

gigorufam

A4 : West

NUMERICAL ABILITY AND REASONING
What price it should be sold to get profit of 10%, If a plot is sold for Rs 19,600 with a loss of 10%? 1.0

& Ueb wiTe BT 10% §1 W 19,600 . T ST 7741 & @l 10% ATH T B I oY e e TR =1 ST =1faq «

Al : Rs. 24,200
24,200 .

A2 : Rs. 24,400
24,400%.

A3 :Rs. 24,600
24,600 2.

A4 : Rs. 24,800
24,800 %.

NUMERICAL ABILITY AND REASONING
What is the value for 75a — (-20a)? 1.0

75a — (-20a) BT AF FAZA?

Al:-95a
-95a

A2:95a
95a

A3:-105a
-105a

A4:105a
105 a

NUMERICAL ABILITY AND REASONING

What is the value of 15 m3 n#/ 5 mn?
15m n*/ 5 BT AH Jdlsd?

Al:3m?n’
3m?n’

A2 : 3

3mn?

A3:3m*n’
3m*n’

A4:3m?nd
3m?n’

NUMERICAL ABILITY AND REASONING

What is the value of Y, If 13y2+ 9 = 1062?

Y &1 HF 9123, TfE 13y2 + 9 = 10622

Al :8
8

0.00

0.00







Mechanic Motor Vehicle

-No. Correct Answer Key
1 A2
2 A1
3 A3
4 A4
5 A3
6 A3
7 A2
8 A4
9 A2
10 A3
11 A2
12 A1
13 A2
14 A3
15 A2
16 A1
17 A3
18 A2
19 A4

20 A1

21 A1

22 A1

23 A2

24 A1

25 A3

26 A4

27 A2

28 A1

29 A4

30 A2

31 A3

32 A1

33 A2

34 A2

35 A2

36 A1

37 A3

38 A2

39 A4

40 A3

41 A3

42 A2

43 A3

44 A4

45 A3

46 A3

47 A1

48 A2

49 A2

50 A3

S.No. Correct Answer Key
51 A4
52 A4
53 A4
54 A3
55 A3
56 A1
57 A3
58 A2
59 A2
60 A1
61 A3
62 A1
63 A3
64 A3
65 A2
66 A3
67 A2
68 A1
69 A1
70 A3
71 A1
72 A2
73 A3
74 A1
75 A2
76 A1
77 A2
78 A3
79 A4
80 A3
81 A1
82 A2
83 A3
84 A3
85 A3
86 A1
87 A2
88 A3
89 A4
90 A4
91 A2
92 A2
93 A3
94 A2
95 A3
96 A4
97 A1
98 A2
99 A1
100 A2






